



s-Convex Functions in the Fourth Sense and Some of Their Properties

Zeynep Eken¹, Sevda Sezer¹, Gültekin Tınaztepe² and Gabil Adilov^{1*}

¹Faculty of Education, Akdeniz University, Antalya, Turkey

²Vocational School of Technical Sciences, Akdeniz University, Antalya, Turkey

*Corresponding author

Abstract

In this paper, *s*-convex functions in the fourth sense is introduced. Its main characterizations, algebraic and functional properties are presented. Also, some relations between these functions and the other types of *s*-convex functions are given.

Keywords: convex function, *s*-convex function

2010 Mathematics Subject Classification: 26A51, 26B25

1. Introduction

Convex functions have been an attraction center for many researchers since the very beginning of the last century after Jensen's systematic studies of these functions. It has been indispensable feature of the optimization problems after L. V. Kantorovich, Dantzig and Leontiev's solution methods in 1940s [23]. Since then, researchers have set forth the generalizations and extensions of the notion of convexity such as quasiconvex functions, Schur convex function, (K,S)-convex functions, *B* and *B*⁻¹-convex functions, *s*-convex functions, relative strongly exponentially convex functions, co-ordinated *s*-convex functions etc. which are employed in equilibrium theory, signal processing, stochastic analysis, microeconomics, and fractal theory [1–5, 9–12, 14, 16, 20, 22, 24–26]. One of them is given very recently by Micherda in [17]. That study presents a generalization of convexity, namely, (*k*, *h*)-convexity, in which two functions on (0, 1) are used, one defines the convexity of set and the other function determines the convexity type of the function. Its definition is given as follows:

Let $k : (0, 1) \rightarrow \mathbb{R}$ and D be subset of X . If $k(\lambda)x + k(1 - \lambda)y \in D$ for all $x, y \in D$ and $\lambda \in (0, 1)$, then D is called *k*-convex set.

Let $D \subseteq X$ be a *k*-convex set and let $k, h : (0, 1) \rightarrow \mathbb{R}$ and $f : D \rightarrow \mathbb{R}$. If for all $x, y \in D$ and $\lambda \in (0, 1)$,

$$f(k(\lambda)x + k(1 - \lambda)y) \leq h(\lambda)f(x) + h(1 - \lambda)f(y) \quad (1.1)$$

is satisfied, then f is said to be (*k*, *h*)-convex function. In case of $k(\lambda) = h(\lambda) = \lambda$, definitions of classical convex set and function are obtained.

In the case $k(\lambda) = \lambda^{\frac{1}{p}}$ and $h(\lambda) = \lambda^{\frac{1}{p}}$ for $0 < p \leq 1$ in (1.1), *p*-convexity concepts, which have been already introduced by [6, 7, 21], are given as follows:

Definition 1.1. [7] Let $U \subseteq \mathbb{R}^n$ and $0 < p \leq 1$. If for each $x, y \in U$, $\lambda, \mu \geq 0$ such that $\lambda^p + \mu^p = 1$, $\lambda x + \mu y \in U$, then U is called a *p*-convex set in \mathbb{R}^n .

Definition 1.2. [21] Let $U \subseteq \mathbb{R}^n$ and let $f : U \rightarrow \mathbb{R}$ be a function. If the set

$$epif = \left\{ (x, \alpha) \in \mathbb{R}^{n+1} : x \in U, \alpha \in \mathbb{R}, f(x) \leq \alpha \right\}$$

is *p*-convex set, then f is called a *p*-convex function.

The following theorem gives us a characterization of *p*-convex functions:

Theorem 1.3. [21] Let $U \subseteq \mathbb{R}^n$ and let $f : U \rightarrow \mathbb{R}$ be a function. Then, f is a *p*-convex function if and only if U is a *p*-convex set, for all $\lambda, \mu \geq 0$ such that $\lambda^p + \mu^p = 1$ and for each $x, y \in U$

$$f(\lambda x + \mu y) \leq \lambda f(x) + \mu f(y) \quad (1.2)$$

is satisfied.

The case $k(\lambda) = \lambda^{\frac{1}{s}}$ and $h(\lambda) = \lambda$ for $0 < s \leq 1$ in (1.1) corresponds to the following type of s -convexity and was used in the theory of Orlicz spaces [18]:

Definition 1.4. Let $U \subseteq \mathbb{R}^n$ be a s -convex set such that $s \in (0, 1]$. A function $f : U \rightarrow \mathbb{R}$ is said to be s -convex in the first sense if

$$f(\lambda x + \mu y) \leq \lambda^s f(x) + \mu^s f(y)$$

for all $x, y \in U$ and $\lambda, \mu \geq 0$ with $\lambda^s + \mu^s = 1$.

In this definition, the concept of s -convex set is the same concept as p -convex set in Definition 1.1.

In case $k(\lambda) = \lambda$ and $h(\lambda) = \lambda^s$ for $0 < s \leq 1$ in (1.1), the following type of s -convexity is obtained as follows:

Definition 1.5. [8] Let $U \subseteq \mathbb{R}^n$ be a convex set and $s \in (0, 1]$. A function $f : U \rightarrow \mathbb{R}$ is said to be s -convex in the second sense if the inequality

$$f(\lambda x + \mu y) \leq \lambda^s f(x) + \mu^s f(y) \tag{1.3}$$

holds for all $x, y \in U$ and all $\lambda, \mu \geq 0$ with $\lambda + \mu = 1$.

In the case $k(\lambda) = \lambda$ and $h(\lambda) = \lambda^s$ for $0 < s \leq 1$ in (1.1), the following type of s -convexity is given as follows:

Definition 1.6. [15] Let $U \subseteq \mathbb{R}^n$ be a convex set and $s \in (0, 1]$. A function $f : U \rightarrow \mathbb{R}$ is said to be s -convex in the third sense if the inequality

$$f(\lambda x + \mu y) \leq \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y)$$

holds for all $x, y \in U$ and all $\lambda, \mu \geq 0$ with $\lambda^s + \mu^s = 1$.

The classes of s -convex functions in first, second and third senses are denoted by K_s^1, K_s^2, K_s^3 respectively. It can be easily seen that in the case $s = 1$, each type of s -convexity is reduced to the ordinary convexity of functions.

In this paper, the s -convex function in the fourth sense is introduced, examples and some characterizations are given. The conditions under which this type of s -convexity is preserved are given. Some relations to other kinds of s -convexity are investigated.

2. s -Convex Functions in the Fourth Sense

Definition 2.1. Let U be a convex subset of a vector space X and let $s \in (0, 1]$. A function $f : U \rightarrow \mathbb{R}$ is said to be s -convex in the fourth sense if the inequality

$$f(\lambda x + \mu y) \leq \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y) \tag{2.1}$$

is satisfied for each $x, y \in U$ and for all $\lambda, \mu \geq 0$ such that $\lambda + \mu = 1$. The inequality (2.1) is equivalent to the following inequalities:

$$f(\lambda^s x + \mu^s y) \leq \lambda f(x) + \mu f(y),$$

where $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$ and

$$f(\lambda x + (1 - \lambda)y) \leq \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y),$$

where $\lambda \in [0, 1]$.

The class of these functions is denoted by K_s^4 .

On the other hand, the function $f : U \rightarrow \mathbb{R}$ is said to be s -concave in the fourth sense if the inequality

$$f(\lambda x + \mu y) \geq \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y) \tag{2.2}$$

is satisfied for each $x, y \in U$ and for all $\lambda, \mu \geq 0$ such that $\lambda + \mu = 1$.

Throughout the paper, $U \subseteq X$ is taken as a convex set and $\mathbb{R}_+ = [0, \infty)$, $\mathbb{R}_- = (-\infty, 0]$.

Example 2.2. Let $a, b \in \mathbb{R}$,

$$L_{\frac{1}{s}}^+[a, b] = \{x \in L_{\frac{1}{s}}[a, b] \mid x : [a, b] \rightarrow \mathbb{R}_+\}$$

and $f : L_{\frac{1}{s}}^+[a, b] \rightarrow \mathbb{R}$ defined by $f(x) = c \int_a^b |x(t)|^{\frac{1}{s}} dt$, where $c < 0$. Then $f \in K_s^4$.

Let $x, y \in L_{\frac{1}{s}}^+[a, b]$ and $0 < \lambda < 1$. Then, the following relation holds:

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &= c \int_a^b |\lambda x(t) + (1 - \lambda)y(t)|^{\frac{1}{s}} dt \\ &\leq c \int_a^b \left(\lambda^{\frac{1}{s}} |x(t)|^{\frac{1}{s}} + (1 - \lambda)^{\frac{1}{s}} |y(t)|^{\frac{1}{s}} \right) dt \\ &= \lambda^{\frac{1}{s}} c \int_a^b |x(t)|^{\frac{1}{s}} dt + (1 - \lambda)^{\frac{1}{s}} c \int_a^b |y(t)|^{\frac{1}{s}} dt \\ &= \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

So, $f \in K_s^4$.

Example 2.3. Let $U \subseteq \mathbb{R}^n$ and $k \in \mathbb{R}_+$. If we define $f : U \rightarrow \mathbb{R}$ such that $f(x) = -k$ then $f \in K_s^4$. Thus, for $\lambda \in [0, 1]$, it can be written

$$\begin{aligned} f(\lambda x + (1-\lambda)y) &= -k \\ &= -(\lambda + (1-\lambda))k \\ &= -\lambda k - (1-\lambda)k \\ &\leq -\lambda^{\frac{1}{s}}k - (1-\lambda)^{\frac{1}{s}}k \\ &= \lambda^{\frac{1}{s}}f(x) + (1-\lambda)^{\frac{1}{s}}f(y). \end{aligned}$$

So, $f \in K_s^4$.

Example 2.4. Let

$$U = \{x = (x_1, x_2, \dots, x_n) \in \mathbb{R}^n \mid x_1 + x_2 + \dots + x_n \geq 0\}$$

and $k \in \mathbb{R}_+$. If we define $f : U \rightarrow \mathbb{R}$ such that $f(x_1, x_2, \dots, x_n) = -k(x_1 + x_2 + \dots + x_n)$, then $f \in K_s^4$. Because, we have $\lambda \in [0, 1]$, it can be written

$$\begin{aligned} f(\lambda x + (1-\lambda)y) &= f(\lambda x_1 + (1-\lambda)y_1, \lambda x_2 + (1-\lambda)y_2, \dots, \lambda x_n + (1-\lambda)y_n) \\ &= -k(\lambda x_1 + (1-\lambda)y_1 + \lambda x_2 + (1-\lambda)y_2 + \dots + \lambda x_n + (1-\lambda)y_n) \\ &= \lambda(-k)(x_1 + x_2 + \dots + x_n) + (1-\lambda)(-k)(y_1 + y_2 + \dots + y_n) \\ &\leq \lambda^{\frac{1}{s}}(-k)(x_1 + x_2 + \dots + x_n) + (1-\lambda)^{\frac{1}{s}}(-k)(y_1 + y_2 + \dots + y_n) \\ &= \lambda^{\frac{1}{s}}f(x) + (1-\lambda)^{\frac{1}{s}}f(y). \end{aligned}$$

So, it is obtained that $f \in K_s^4$.

Theorem 2.5. If $f : U \rightarrow \mathbb{R}$ be a s -convex function in the fourth sense, then the following inequality is valid for all $x, y \in U$:

$$f\left(\frac{x+y}{2}\right) \leq \frac{f(x) + f(y)}{2^{\frac{1}{s}}}. \quad (2.3)$$

Proof. It is clear by taking $\lambda = \mu = \frac{1}{2}$. □

Corollary 2.6. If $f : U \rightarrow \mathbb{R}$ is s -convex function in the fourth sense, then $f \leq 0$.

Indeed, accepting $y = x$ in (2.3), we have $f(x) \leq 2^{1-\frac{1}{s}}f(x)$, so $(1 - 2^{1-\frac{1}{s}})f(x) \leq 0$. Thus, $f(x) \leq 0$. Similarly, it is deduced that if f is s -concave function in the fourth sense, then $f \geq 0$.

Theorem 2.7. Let $f : U \rightarrow \mathbb{R}$ be a s -convex function in the fourth sense. Then the inequality (2.1) holds for all $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda + \mu \leq 1$.

Proof. Assume that $x, y \in U$, $\lambda, \mu \in \mathbb{R}_+$ and $0 < \lambda + \mu < 1$. Put $\gamma = \lambda + \mu$, $\alpha = \frac{\lambda}{\gamma}$ and $\beta = \frac{\mu}{\gamma}$. Then, $\alpha + \beta = \frac{\lambda}{\gamma} + \frac{\mu}{\gamma} = 1$ and we have

$$\begin{aligned} f(\lambda x + \mu y) &= f(\alpha \gamma x + \beta \gamma y) \\ &\leq \alpha^{\frac{1}{s}}f(\gamma x) + \beta^{\frac{1}{s}}f(\gamma y) \\ &= \alpha^{\frac{1}{s}}f(\gamma x + (1-\gamma) \cdot 0) + \beta^{\frac{1}{s}}f(\gamma y + (1-\gamma) \cdot 0) \\ &\leq \alpha^{\frac{1}{s}}\left[\gamma^{\frac{1}{s}}f(x) + (1-\gamma)^{\frac{1}{s}} \cdot f(0)\right] + \beta^{\frac{1}{s}}\left[\gamma^{\frac{1}{s}}f(y) + (1-\gamma)^{\frac{1}{s}} \cdot f(0)\right] \\ &= \alpha^{\frac{1}{s}}\gamma^{\frac{1}{s}}f(x) + \beta^{\frac{1}{s}}\gamma^{\frac{1}{s}}f(y) + (\alpha^{\frac{1}{s}} + \beta^{\frac{1}{s}})(1-\gamma)^{\frac{1}{s}} \cdot f(0) \\ &\leq \alpha^{\frac{1}{s}}\gamma^{\frac{1}{s}}f(x) + \beta^{\frac{1}{s}}\gamma^{\frac{1}{s}}f(y) \\ &= \lambda^{\frac{1}{s}}f(x) + \mu^{\frac{1}{s}}f(y). \end{aligned}$$

□

Jensen inequality [13] is very important inequality in convex function theory. The following theorem shows the Jensen inequality for s -convex function in the fourth sense.

Theorem 2.8. Let $f : U \rightarrow \mathbb{R}$ be a s -convex function in the fourth sense and $x_1, x_2, \dots, x_m \in U$, $\lambda_1, \lambda_2, \dots, \lambda_m \in \mathbb{R}_+$ with $\lambda_1 + \lambda_2 + \dots + \lambda_m = 1$. Then

$$f(\lambda_1 x_1 + \lambda_2 x_2 + \dots + \lambda_m x_m) \leq \lambda_1^{\frac{1}{s}}f(x_1) + \lambda_2^{\frac{1}{s}}f(x_2) + \dots + \lambda_m^{\frac{1}{s}}f(x_m).$$

Proof. We use induction on m . The inequality is trivially true when $m = 2$. Assume that it is true when $m = k$, where $k > 2$. Now we show the validity when $m = k + 1$. Let a real number x be defined by the equation $x = \lambda_1 x_1 + x_2 + \dots + \lambda_{k+1} x_{k+1}$ where $x_1, \dots, x_{k+1} \in U$, $\lambda_1, \dots, \lambda_{k+1} \geq 0$ with $\lambda_1 + \dots + \lambda_{k+1} = 1$. At least one of $\lambda_1, \dots, \lambda_{k+1}$ must be less than 1. Let us say $\lambda_{k+1} < 1$ and write $\lambda_1 + \dots + \lambda_k = 1 - \lambda_{k+1}$. One can find $\lambda_* < 1$ such that $\lambda_1 + \dots + \lambda_k = \lambda_*$. Since $\left(\frac{\lambda_1}{\lambda_*}\right) + \dots + \left(\frac{\lambda_k}{\lambda_*}\right) = 1$ and the assumption of hypothesis, we get

$$f\left(\frac{\lambda_1}{\lambda_*}x_1 + \dots + \frac{\lambda_k}{\lambda_*}x_k\right) \leq \left(\frac{\lambda_1}{\lambda_*}\right)^{\frac{1}{s}} f(x_1) + \dots + \left(\frac{\lambda_k}{\lambda_*}\right)^{\frac{1}{s}} f(x_k).$$

By using s -convexity of f in the fourth sense,

$$\begin{aligned} f(x) &= f\left(\lambda_*\left(\frac{\lambda_1}{\lambda_*}x_1 + \dots + \frac{\lambda_k}{\lambda_*}x_k\right) + \lambda_{k+1}x_{k+1}\right) \\ &\leq \lambda_*^{\frac{1}{s}} f\left(\frac{\lambda_1}{\lambda_*}x_1 + \dots + \frac{\lambda_k}{\lambda_*}x_k\right) + \lambda_{k+1}^{\frac{1}{s}} f(x_{k+1}) \\ &\leq \lambda_1^{\frac{1}{s}} f(x_1) + \dots + \lambda_{k+1}^{\frac{1}{s}} f(x_{k+1}) \end{aligned}$$

is obtained. This completes the proof by induction. □

3. Some Properties of s -Convex Functions in the Fourth Sense

Theorem 3.1. Let $s_1 \leq s_2$. If $f : U \rightarrow \mathbb{R}$ is a s_2 -concave function in the fourth sense, then f is a s_1 -concave function in the fourth sense.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then, according to Theorem 2.7, we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &\geq \lambda^{\frac{1}{s_2}} f(x) + (1 - \lambda)^{\frac{1}{s_2}} f(y) \\ &\geq \lambda^{\frac{1}{s_1}} f(x) + (1 - \lambda)^{\frac{1}{s_1}} f(y), \end{aligned}$$

which means that $f \in K_{s_1}^4$. □

Theorem 3.2. Let $s_1 \leq s_2$ and $f : U \rightarrow \mathbb{R}$. If $f \in K_{s_2}^4$, then $f \in K_{s_1}^4$.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then, according to Theorem 2.7, we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &\leq \lambda^{\frac{1}{s_2}} f(x) + (1 - \lambda)^{\frac{1}{s_2}} f(y) \\ &\leq \lambda^{\frac{1}{s_1}} f(x) + (1 - \lambda)^{\frac{1}{s_1}} f(y), \end{aligned}$$

which means that $f \in K_{s_1}^4$. □

Theorem 3.3. If $f : U \rightarrow \mathbb{R}_-$ is a convex function, then f is a s -convex function in the fourth sense.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then, we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &\leq \lambda f(x) + (1 - \lambda)f(y) \\ &\leq \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

□

Theorem 3.4. If $f : U \rightarrow \mathbb{R}$ is a concave function, then f is a s -concave function in the fourth sense.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then, we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &\geq \lambda f(x) + (1 - \lambda)f(y) \\ &\geq \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

□

Theorem 3.5. If $f : U \rightarrow \mathbb{R}_+$ be a s -concave function in the second sense, then f is a s -concave function in the fourth sense.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then, we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &\geq \lambda^s f(x) + (1 - \lambda)^s f(y) \\ &\geq \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

□

Theorem 3.6. Let $f : U \rightarrow \mathbb{R}$ and $x, y \in U$. If the function $g : [0, 1] \rightarrow \mathbb{R}$ defined by $g(\lambda) = f(\lambda x + (1 - \lambda)y)$ is a s -convex function in the fourth sense, then f is also a s -convex function in the fourth sense.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) = g(\lambda) &= g(\lambda \cdot 1 + (1 - \lambda) \cdot 0) \\ &\leq \lambda^{\frac{1}{s}} g(1) + (1 - \lambda)^{\frac{1}{s}} g(0) \\ &= \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

Then, $f \in K_s^4$. □

Theorem 3.7. If $f_i : U \rightarrow \mathbb{R}_-$ are s -convex functions in the fourth sense for $i = 1, 2, \dots, m$, then $f = \sum_{i=1}^m a_i f_i$ is a s -convex function in the fourth sense where $a_i \geq 0$.

Proof. For $x, y \in U$ and $\lambda \in [0, 1]$, we have

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &= \sum_{i=1}^m a_i f_i(\lambda x + (1 - \lambda)y) \\ &\leq \sum_{i=1}^m a_i \left(\lambda^{\frac{1}{s}} f_i(x) + (1 - \lambda)^{\frac{1}{s}} f_i(y) \right) \\ &= \lambda^{\frac{1}{s}} \sum_{i=1}^m a_i f_i(x) + (1 - \lambda)^{\frac{1}{s}} \sum_{i=1}^m a_i f_i(y) \\ &= \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

This shows that $f \in K_s^4$. □

Theorem 3.8. If $f_i : U \rightarrow \mathbb{R}_-$ are s -convex functions in the fourth sense for $i = 1, 2, \dots, m$, then $f : U \rightarrow \mathbb{R}_-$ defined by $f = \max_{1 \leq i \leq m} \{f_i\}$ is a s -convex function in the fourth sense.

Proof. For each $x, y \in U$ and $\lambda \in [0, 1]$, we can write

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &= \max_{1 \leq i \leq m} \{f_i(\lambda x + (1 - \lambda)y)\} \\ &= f_i(\lambda x + (1 - \lambda)y) \\ &\leq \lambda^{\frac{1}{s}} f_i(x) + (1 - \lambda)^{\frac{1}{s}} f_i(y) \\ &\leq \lambda^{\frac{1}{s}} \max_{1 \leq i \leq m} \{f_i(x)\} + (1 - \lambda)^{\frac{1}{s}} \max_{1 \leq i \leq m} \{f_i(y)\} \\ &= \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

Thus, $f = \max_{1 \leq i \leq m} \{f_i\}$ is a s -convex function in the fourth sense. □

Theorem 3.9. If $f_i : U \rightarrow \mathbb{R}$ are s -concave functions in the fourth sense for $i = 1, 2, \dots, m$, then $f : U \rightarrow \mathbb{R}$ defined by $f = \min_{1 \leq i \leq m} \{f_i\}$ is a s -concave function in the fourth sense.

Proof. For each $x, y \in U$ and $\lambda \in [0, 1]$, we can write

$$\begin{aligned} f(\lambda x + (1 - \lambda)y) &= \min_{1 \leq i \leq m} \{f_i(\lambda x + (1 - \lambda)y)\} \\ &= f_i(\lambda x + (1 - \lambda)y) \\ &\geq \lambda^{\frac{1}{s}} f_i(x) + (1 - \lambda)^{\frac{1}{s}} f_i(y) \\ &\geq \lambda^{\frac{1}{s}} \min_{1 \leq i \leq m} \{f_i(x)\} + (1 - \lambda)^{\frac{1}{s}} \min_{1 \leq i \leq m} \{f_i(y)\} \\ &= \lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y). \end{aligned}$$

Thus, $f = \min_{1 \leq i \leq m} \{f_i\}$ is a s -concave function in the fourth sense. □

Next, it will be given some properties of composition of functions in different types of convexity.

Theorem 3.10. If the function $f : U \rightarrow \mathbb{R}_-$ is a s -convex function in the fourth sense and $g : f(U) \rightarrow \mathbb{R}$ is an increasing linear function, then $g \circ f : U \rightarrow \mathbb{R}$ is a s -convex function in the fourth sense.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (g \circ f)(\lambda x + (1 - \lambda)y) &= g(f(\lambda x + (1 - \lambda)y)) \\ &\leq g(\lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y)) \\ &= \lambda^{\frac{1}{s}} g(f(x)) + (1 - \lambda)^{\frac{1}{s}} g(f(y)) \\ &= \lambda^{\frac{1}{s}} (g \circ f)(x) + (1 - \lambda)^{\frac{1}{s}} (g \circ f)(y). \end{aligned}$$

Hence, $g \circ f \in K_s^4$. □

Theorem 3.11. Let $g : U \rightarrow \mathbb{R}_+$, $f : g(U) \rightarrow \mathbb{R}$ and f be decreasing linear function. If g is a s -concave function in the fourth sense, then $f \circ g \in K_s^4$.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &\leq f(\lambda^{\frac{1}{s}} g(x) + (1 - \lambda)^{\frac{1}{s}} g(y)) \\ &= \lambda^{\frac{1}{s}} f(g(x)) + (1 - \lambda)^{\frac{1}{s}} f(g(y)) \\ &= \lambda^{\frac{1}{s}} (f \circ g)(x) + (1 - \lambda)^{\frac{1}{s}} (f \circ g)(y). \end{aligned}$$

□

Theorem 3.12. Let $f : U \rightarrow \mathbb{R}_-$ and $g : \mathbb{R}_- \rightarrow \mathbb{R}$ be an increasing function. If $f \in K_s^4$ and $g \in K_s^3$, then $g \circ f \in K_{s^2}^4$.

Proof. For each $x, y \in U$ and $\lambda \in [0, 1]$, we have

$$\begin{aligned} (g \circ f)(\lambda x + (1 - \lambda)y) &= g(f(\lambda x + (1 - \lambda)y)) \\ &\leq g(\lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y)) \\ &\leq \lambda^{\frac{1}{s^2}} g(f(x)) + (1 - \lambda)^{\frac{1}{s^2}} g(f(y)) \\ &= \lambda^{\frac{1}{s^2}} (g \circ f)(x) + (1 - \lambda)^{\frac{1}{s^2}} (g \circ f)(y). \end{aligned}$$

Hence, $g \circ f \in K_{s^2}^4$. □

Theorem 3.13. If $f : U \rightarrow \mathbb{R}_+$ is a s -concave function in the fourth sense and $g : f(U) \rightarrow \mathbb{R}$ is a decreasing s -convex function in the third sense, then $g \circ f$ is a s^2 -convex function in the fourth sense.

Proof. For each $x, y \in U$ and $\lambda \in [0, 1]$, we have

$$\begin{aligned} (g \circ f)(\lambda x + (1 - \lambda)y) &= g(f(\lambda x + (1 - \lambda)y)) \\ &\leq g(\lambda^{\frac{1}{s}} f(x) + (1 - \lambda)^{\frac{1}{s}} f(y)) \\ &\leq \lambda^{\frac{1}{s^2}} g(f(x)) + (1 - \lambda)^{\frac{1}{s^2}} g(f(y)) \\ &= \lambda^{\frac{1}{s^2}} (g \circ f)(x) + (1 - \lambda)^{\frac{1}{s^2}} (g \circ f)(y). \end{aligned}$$

□

Theorem 3.14. Let $g : U \rightarrow V$ be a linear transformation and $f : V \rightarrow \mathbb{R}$ be a function. If $f \in K_s^4$, then $f \circ g \in K_s^4$.

Proof. Let $\lambda \in [0, 1]$. Thus, we get

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &= f(\lambda g(x) + (1 - \lambda)g(y)) \\ &\leq \lambda^{\frac{1}{s}} f(g(x)) + (1 - \lambda)^{\frac{1}{s}} f(g(y)) \\ &= \lambda^{\frac{1}{s}} (f \circ g)(x) + (1 - \lambda)^{\frac{1}{s}} (f \circ g)(y) \end{aligned}$$

for all $x, y \in U$. Hence, $f \circ g \in K_s^4$. □

Theorem 3.15. Let $g : U \rightarrow \mathbb{R}_-$ and $f : \mathbb{R}_- \rightarrow \mathbb{R}$ be an increasing function. If $f \in K_s^4$ and $g \in K_s^4$, then $f \circ g : U \rightarrow \mathbb{R}$ is a convex function.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &\leq f(\lambda^{\frac{1}{s}} g(x) + (1 - \lambda)^{\frac{1}{s}} g(y)) \\ &\leq \lambda f(g(x)) + (1 - \lambda)f(g(y)). \end{aligned}$$

Hence, $f \circ g \in K_s^4$. □

Theorem 3.16. Let $g : U \rightarrow \mathbb{R}_-$ and $f : \mathbb{R}_- \rightarrow \mathbb{R}$ be an increasing f is s -convex function (i.e. p -convex function) and $g \in K_s^4$, then $f \circ g \in K_s^4$.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &\leq f(\lambda^{\frac{1}{s}}g(x) + (1 - \lambda)^{\frac{1}{s}}g(y)) \\ &\leq \lambda^{\frac{1}{s}}f(g(x)) + (1 - \lambda)^{\frac{1}{s}}f(g(y)) \\ &= \lambda^{\frac{1}{s}}(f \circ g)(x) + (1 - \lambda)^{\frac{1}{s}}(f \circ g)(y). \end{aligned}$$

Hence, $f \circ g \in K_s^4$. □

Theorem 3.17. Let $g : U \rightarrow \mathbb{R}_+$ and $f : \mathbb{R}_+ \rightarrow \mathbb{R}$ be a decreasing function. If $f \in K_s^1$ and g is a s -concave function in the fourth sense, then $f \circ g : U \rightarrow \mathbb{R}_+$ is a convex function.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &\leq f(\lambda^{\frac{1}{s}}g(x) + (1 - \lambda)^{\frac{1}{s}}g(y)) \\ &\leq \lambda f(g(x)) + (1 - \lambda)f(g(y)) \\ &= \lambda(f \circ g)(x) + (1 - \lambda)(f \circ g)(y). \end{aligned}$$

□

Theorem 3.18. If $g : U \rightarrow \mathbb{R}_+$ is a s -concave function in the fourth sense and $f : g(U) \rightarrow \mathbb{R}$ is a decreasing s -convex function (i.e. p -convex function), then $f \circ g \in K_s^4$.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &\leq f(\lambda^{\frac{1}{s}}g(x) + (1 - \lambda)^{\frac{1}{s}}g(y)) \\ &\leq \lambda^{\frac{1}{s}}f(g(x)) + (1 - \lambda)^{\frac{1}{s}}f(g(y)) \\ &= \lambda^{\frac{1}{s}}(f \circ g)(x) + (1 - \lambda)^{\frac{1}{s}}(f \circ g)(y). \end{aligned}$$

□

The following theorem can be considered as a generalization of Theorem 3.18.

Theorem 3.19. Let $s_2 \leq s_1$. If $g : U \rightarrow \mathbb{R}_+$ is a s_1 -concave function in the fourth sense and $f : g(U) \rightarrow \mathbb{R}$ is a decreasing s_2 -convex function (i.e. p -convex function), then $f \circ g \in K_{s_2}^4$.

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$.

$$\begin{aligned} (f \circ g)(\lambda x + (1 - \lambda)y) &= f(g(\lambda x + (1 - \lambda)y)) \\ &\leq f(\lambda^{\frac{1}{s_1}}g(x) + (1 - \lambda)^{\frac{1}{s_1}}g(y)) \\ &\leq f(\lambda^{\frac{1}{s_2}}g(x) + (1 - \lambda)^{\frac{1}{s_2}}g(y)) \\ &\leq \lambda^{\frac{1}{s_2}}f(g(x)) + (1 - \lambda)^{\frac{1}{s_2}}f(g(y)) \\ &= \lambda^{\frac{1}{s_2}}(f \circ g)(x) + (1 - \lambda)^{\frac{1}{s_2}}(f \circ g)(y). \end{aligned}$$

□

4. Conclusion

Convex functions play an important role in many areas as optimization, control theory, game theory, probability, statistics, biological system, economy, medicine, art, linear programming and convex programming. Therefore, convexity has a huge impact on our daily lives with its myriad applications and it is one of the areas of great interest to mathematicians. s -Convex functions in the fourth sense are introduced in this paper, which is the continuation of the studies in which s -convex functions in the first, second and third sense are given. Some characterizations, algebraic and functional properties of these functions are presented. The conditions under which this type of s -convexity is preserved are given. Some relations to other kinds of s -convexity are investigated. Also, some relations between these functions and the other types of s -convex functions are given. It is thought that this study, in which a new type of convexity is defined, will contribute to the literature in the field of convexity.

References

- [1] G. Adilov and I. Yesilce, B^{-1} -convex functions, *Journal of Convex Analysis*, 24 (2) (2017), 505-517.
- [2] G. Adilov and I. Yesilce, Some important properties of B -convex functions, *Journal of Nonlinear and Convex Analysis*, 19(4) (2018), 669-680.
- [3] G. Adilov and I. Yesilce, On generalizations of the concept of convexity, *Hacettepe Journal of Mathematics and Statistics*, 41(5) (2012), 723-730.
- [4] G. Adilov, G. Tinaztepe and R. Tinaztepe, On the global minimization of increasing positively homogeneous functions over the unit simplex, *International Journal of Computer Mathematics*, 87(12) (2010), 2733-2746.
- [5] K.A. Al-Hujaili, T.Y. Al-Naffouri and M. Moinuddin, The steady-state of the (Normalized) LMS is schur convex, In 2016 IEEE International Conference on Acoustics, Speech and Signal Processing (ICASSP), 2016, 4900-4904.
- [6] A. Bayoumi and A. F. Ahmed, p -Convex functions in discrete sets, *International Journal of Engineering and Applied Sciences*, 4(10) (2017), 63-66.
- [7] A. Bayoumi, *Foundation of complex analysis in non locally convex spaces*, Mathematics Studies Elsevier, North Holland, 2003.
- [8] W. W. Breckner, Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer funktionen in topologischen linearen Raumen, *Publ. Inst. Math.*, 23 (1978), 13-20.
- [9] W. Bricc and C. Horvath, B -convexity, *Optimization*, 53(2) (2004), 103-127.
- [10] W. Bricc and C. Horvath, Nash points, Ky Fan inequality and equilibria of abstract economies in Max-Plus and B -convexity, *Journal of Mathematical Analysis and Applications*, 341(1) (2008), 188-199.
- [11] W. Bricc and C. Horvath, B -convex production model for evaluating performance of firms, *Journal of Mathematical Analysis and Applications*, 355(1) (2009), 131-144.
- [12] H. Budak, F. Usta and M.Z. Sarikaya, Refinements of the Hermite–Hadamard inequality for co-ordinated convex mappings, *Journal of Applied Analysis*, 25(1) (2019), 73-81.
- [13] J.L.W.V. Jensen, Sur les fonctions convexes et les inégalités entre les valeurs moyennes, *Acta Mathematica*, 30(1) (1906), 175–193.
- [14] S. Kemali, I. Yesilce and G. Adilov, B -Convexity, B^{-1} -convexity and their comparison, *Numerical Functional Analysis and Optimization*, 36(2) (2015), 133-146.
- [15] S. Kemali, S. Sezer, G. Tinaztepe and G. Adilov, s -Convex functions in the third sense, *The Korean Journal of Mathematics*, 29(3) (2021), 593-602.
- [16] Y. C. Kwun, M. Tanveer, W. Nazeer, K. Gdawiec and S. M. Kang, Mandelbrot and Julia sets via Jungck-CR iteration with s -convexity, *IEEE Access*, 7 (2019), 12167-12176.
- [17] B. Micherda and T. Rajba, On some Hermite-Hadamard-Fejer inequalities for (k, h) -convex functions, *Math. Inequal. Appl.*, 15 (4) (2012), 931-940.
- [18] J. Musielak, *Orlicz spaces and modular spaces*, Springer-Verlag, 2006.
- [19] M. A. Noor, K. I. Noor and T. M. Rassias, Relative strongly exponentially convex functions, *Nonlinear Analysis and Global Optimization*, (2021), 357-371.
- [20] M.Z. Sarikaya, H. Budak, Generalized Hermite-Hadamard type integral inequalities for functions whose 3rd derivatives are s -convex, *Tbilisi Mathematical Journal*, 7(2) (2014), 41-49.
- [21] S. Sezer, Z. Eken, G. Tinaztepe and G. Adilov, p -Convex functions and some of their properties, *Numerical Functional Analysis and Optimization*, 42(4) (2021), 443-459.
- [22] G. Tinaztepe, I. Yesilce and G. Adilov, Separation of B^{-1} -convex sets by B^{-1} -measurable maps, *Journal of Convex Analysis*, 21(2) (2014), 571-580.
- [23] V. M. Tikhomirov, The evolution of methods of convex optimization, *The American Mathematical Monthly*, 103(1) (1996), 65-71.
- [24] F. Usta, H. Budak, M.Z. Sarikaya and E. Set, On generalization of trapezoid type inequalities for s -convex functions with generalized fractional integral operators, *Filomat*, 32(6) (2018), 2153-2171.
- [25] Z. Yao, K. Liu, S. C. Leung and K. K. Lai, Single period stochastic inventory problems with ordering or returns policies, *Computers and Industrial Engineering*, 61(2) (2011), 242-253.
- [26] I. Yesilce and G. Adilov, Some operations on B^{-1} -convex sets, *Journal of Mathematical Sciences: Advances and Applications*, 39(1) (2016), 99-104.